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General Marking Guidance

. All candidates must receive the same
treatment. Examiners must mark the first candidate in
exactly the same way as they mark the last.

o Mark schemes should be applied positively.
Candidates must be rewarded for what they have shown
they can do rather than penalised for omissions.

o Examiners should mark according to the mark
scheme not according to their perception of where the
grade boundaries may lie.

° There is no ceiling on achievement. All marks on
the mark scheme should be used appropriately.

o All the marks on the mark scheme are designed to be
awarded. Examiners should always award full marks if
deserved, i.e. if the answer matches the mark
scheme. Examiners should also be prepared to award
zero marks if the candidate’s response is not worthy of
credit according to the mark scheme.

o Where some judgement is required, mark schemes
will provide the principles by which marks will be awarded
and exemplification may be limited.

o When examiners are in doubt regarding the
application of the mark scheme to a candidate’s response,
the team leader must be consulted.

o Crossed out work should be marked UNLESS the
candidate has replaced it with an alternative response.

Although the assessment objectives are weighted separately, they
are inter-related.

AO1 requires informed insight and awareness of differing
viewpoints, and AO2 requires knowledge and understanding of the
specification content.



Spelling, Punctuation and Grammar Marking Guidance

¢ The spelling, punctuation and grammar assessment criteria are common
to GCSE English Literature, GCSE History, GCSE Geography and GCSE
Religious Studies.

¢ All candidates, whichever subject they are being assessed on, must
receive the same treatment. Examiners must mark the first candidate in
exactly the same way as they mark the last.

¢ Spelling, punctuation and grammar marking criteria should be applied
positively. Candidates must be rewarded for what they have
demonstrated rather than penalised for errors.

o Examiners should mark according to the marking criteria. All marks on
the marking criteria should be used appropriately.

¢ All the marks on the marking criteria are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the answer
matches the marking criteria.

o Examiners should be prepared to award zero marks if the candidate’s
response is not worthy of credit according to the marking criteria.

¢ When examiners are in doubt regarding the application of the marking
criteria to a candidate’s response, the team leader must be consulted.

¢ Crossed out work should be marked unless the candidate has replaced it
with an alternative response.

o Handwriting may make it difficult to see if spelling, punctuation and
grammar are correct. Examiners must make every effort to assess
spelling, punctuation and grammar fairly and if they genuinely cannot
make an assessment, the team leader must be consulted.

e Specialist terms do not always require the use of complex terminology
but the vocabulary used should appropriate to the subject and the
question.

¢ Work by candidates with an amanuensis, scribe or typed script should be
assessed for spelling, punctuation and grammar.

e Examiners are advised to consider the marking criteria in the following
way:
o] How well does the response communicate the meaning?
o] What range of specialist terms is used?
o] How accurate is the spelling, punctuation and grammar?



Unit 9: Christianity

Question | Correct Answer Partially Correct Answer | Reject Mark
Number
1) o firm belief e an example of 2
AO1 without logical a religion
proof e trusting Answers which
e unquestioning e believing define a different
belief in God key word.

complete trust in
a supernatural
being

Any alternative
wording of the above
points is acceptable.

(2

Any alternative
wording of the above
points is acceptable.
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Question Answer Mark
Number

1 (b) Indicative content 4
AO2 Answers which think that all a Christian needs to do is show love of God

are likely to use such evidence as:
¢ the most important commandment is to love God
e through loving God Christians find strength to love
others
e as God loves his people Christians need to love God
back

Answers which do not that think all a Christian needs to do is show love
of God are likely to use such evidence as:
¢ the Greatest Commandment says to love others as
well
e Jesus did not only show love of God, he loved others
e Jesus taught to love your neighbour

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:
For a personal response with:
e one brief reason (e.g. Jesus taught to love your
neighbour)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. Jesus taught to love your
neighbour, in the Parable of the Sheep and Goats)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

1 ()
AO1

The main reasons include:

it shows that those who help others will be rewarded

it shows that those who ignore the needs of others will be punished

it explains that loving others means caring for those in need

it explains that by doing something for those in need it is like doing it for
Jesus

it shows that love of your neighbour is what God wants

Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark

Descriptor

0

No rewardable material

Level 1

1-2

Little understanding of the issue shown, typically by:

e giving a brief reason

¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

e using four brief reasons
or two developed reasons
or two reasons with one fully developed
or three reasons with one developed
or a comprehensive explanation using one reason only
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

1 (d)
AO2

Indicative content

Reasons for supporting this statement could be:
e Jesus taught his disciples to call God ‘ Father’
e it allows Christians to have a personal relationship with God
e it shows God created human life, like a father does

Reasons for not supporting this statement could be:
e Christians should believe in God as Trinity

e some fathers are not loving

e God has no gender

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e Oor two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question 1
(a, b, c,d)

Spelling, Punctuation

and Grammar

O marks

Errors severely hinder the meaning of the response
or candidates do not spell, punctuate or use the rules
of grammar within the context of the demands of the
question.

Threshold
performance

Level 1

1 mark

Candidates spell, punctuate and use the rules of
grammar with reasonable accuracy in the context of
the demands of the question. Any errors do not
hinder meaning in the response. Where required,
they use a limited range of specialist terms
appropriately.

Intermediate
performance

Level 2

2-3
marks

Candidates spell, punctuate and use the rules of
grammar with considerable accuracy and general
control of meaning in the context of the demands of
the question. Where required, they use a good range
of specialist terms with facility.

High
performance

Level 3

4 marks

Candidates spell, punctuate and use the rules of
grammar with consistent accuracy and effective
control of meaning in the context of the demands of
the question. Where required, they use a wide range
of specialist terms adeptly and with precision.




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

2 (a) 2
AO1 ¢ a feeling of pity e pity for others

that makes one

want to help

(the sufferer)
e sorrow for the

suffering of

others with urge

to help

Alternative wording of

the above points is
acceptable.

(2)

helping others

o feeling sympathy
for others

e love of others

Any alternative
wording of the above
points is acceptable.

€y

Answers which
define a different
key word.

©)




Question Answer Mark
Number

2 (b) Indicative content 4
AO2 Answers which think Christians should believe in God as Unity

are likely to use such evidence as:
e Dbelief in one God is the basis of the Christian faith
e God is omnipotent, so God has to be Unity
e God’s Unity was taught by Jesus

Answers which do not think Christians should believe in God as Unity
are likely to use such evidence as:

e Christians believe in the Trinity

e the Bible refers to God as Creator

e Jesus taught his disciples to call God Father

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. belief in one God is the basis of the
Christian faith) 1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. belief in one God is the basis
of the Christian faith and is the first of the Ten

Commandments) 2 marks
For a personal response with:
e two reasons with one developed 3 marks

For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
2 (c) . .
AO1L The main reasons include:
e only the Son of God could bring salvation from sin
e it shows Jesus’ divine nature
e Jesus’ incarnation showed that God loved the world
e Dbelieving Jesus is the Son God gives his teachings more importance
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material
Level 1 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons with one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

2 (d)
AO2

Indicative content

Reasons for supporting this statement could be:
e it shows complete love of God
e prayer is central to daily routine of a religious community
¢ it means there are no worldly distractions

Reasons for not supporting this statement could be:
¢ not all Christians are called to join a religious community
e Christians can show love of God in many different ways
e some Christians join a religious community to show love of
others

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e Oor two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question 2
(a, b, c,d)

Spelling, Punctuation

and Grammar

O marks

Errors severely hinder the meaning of the response
or candidates do not spell, punctuate or use the rules
of grammar within the context of the demands of the
question.

Threshold
performance

Level 1

1 mark

Candidates spell, punctuate and use the rules of
grammar with reasonable accuracy in the context of
the demands of the question. Any errors do not
hinder meaning in the response. Where required,
they use a limited range of specialist terms
appropriately.

Intermediate
performance

Level 2

2-3
marks

Candidates spell, punctuate and use the rules of
grammar with considerable accuracy and general
control of meaning in the context of the demands of
the question. Where required, they use a good range
of specialist terms with facility.

High
performance

Level 3

4 marks

Candidates spell, punctuate and use the rules of
grammar with consistent accuracy and effective
control of meaning in the context of the demands of
the question. Where required, they use a wide range
of specialist terms adeptly and with precision.




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

3 (a) 2
AO1 e the first part of a collection of Answers which

the Bible (which
Christians believe
foretells Jesus)

e the part of the
Bible that
foretells Jesus

e the Hebrew

books
part of the Bible
a religious book

Scriptures
the history of the

Any alternative
wording of the above
points is acceptable.

Jewish people

Any alternative
wording of the above
points is acceptable.

(2

€y

define a different
key word.

©)




Question Answer Mark
Number

3 (b) Indicative content 4
AO2 Answers which think that Roman Catholics should do as the Pope

says are likely to use such evidence as:
e he is the head of the Catholic Church
e he is the successor to St Peter
¢ he has been chosen by the Holy Spirit

Answers which do not think Roman Catholics should do as the
Pope says are likely to use such evidence as:
e it is difficult to always agree with the Pope
e itis only important do what the Pope says on matters of
belief
o following their conscience is more important

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. itis difficult to always agree with
the Pope) 1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. it is difficult to always agree
with the Pope for example over issues such as

contraception) 2 marks
For a personal response with:
e two reasons with one developed 3 marks

For a personal response with:
¢ two developed reasons 4 marks




Question | Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
3 (©) .
AO1 The reasons include:
o it keeps alive the true faith handed down from Jesus
o the Pope and bishops interpret the Bible
e salvation is achieved through the sacraments
e it is through the Mass that Jesus comes into people’s daily life
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark Descriptor
0 No rewardable material
Level 1 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
e not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range
of skills needed to produce effective writing is likely to be limited.
There are likely to be passages which lack clarity and proper
organisation. Frequent syntactical and/or spelling errors are likely to
be present.
Level 3 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical
and/or spelling errors are likely to be present.
Level 4 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons with one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing
in place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

3 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
¢ they will understand the marriage issues of their
congregation better
e marriage is part of Christian life
o if they cannot marry it might lead to a shortage of priests

Reasons for not supporting this statement could be:
¢ having a wife and family will distract from their role as a
priest
e Jesus was not married
e it is against the tradition of the Catholic Church

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason

(ii)) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

4 (a) 2
AO1 * (specially chosen) * senior priests Answers which

priests who are
responsible for all
the churches in a
diocese

« priests who are
in charge of a
diocese

Any alternative
wording of the above
points is acceptable.

(2)

« specially chosen
priests

* an example of a
specific role of

bishop e.g. confirmation
* successors to the
apostles

Any alternative
wording of the above
point is acceptable.

@)

define a different

key word.

©)




Question Answer Mark
Number

4 (b) Indicative content 4
AO2 Answers which think the Bible was written by humans about their

experiences of God are likely to use such evidence as:
e it explains why the writers give different accounts of the
same story
e it was written over a long period of time
e the Bible reflects the culture of the time it was written

Answers which do not think the Bible was written by humans

about their experiences of God are likely to use such evidence as:

e it is the direct word of God
e Jesus called the Jewish Scriptures the Word of God
e there is a unity in the message of the Bible

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g it explains why the writers give
different accounts of the same story ) 1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g it explains why the writers
give different accounts of the same story for example the
accounts of Jesus’ birth in the Gospels)
2 marks

For a personal response with:
e two reasons with one developed 3 marks

For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
4 (c) . .
AO1L The main reasons include:
e it gives Christians opportunities to strength their faith
for many Christians it is where they receive the sacraments
e it helps Christians to develop a sense of belonging to the
Christian community
e it provides social support for the local area
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material
Level 1 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons with one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or

spelling errors may be found. Excellent organisation and planning.




Question Answer Mark
Number
4 (d) Indicative content
AO2
Reasons for supporting this statement could be:
e the Church is Apostolic
e the Holy Spirit guides the Church today
¢ doing what the Church says is a means to salvation
Answers which do not think Christians should always do what the
Church tells them are likely to use such evidence as:
¢ only the Bible has authority
o faith comes through a personal relationship with God
e the Church has made mistakes
Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
¢ three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion 3

1 mark for
e asimple reason
2 marks for
e a developed reason
e Or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number
5 (a) 2
AO1 e time of (spiritual) a festival Answers which
preparation for preparing for define a different
Christmas Christmas key word.
¢ the four weeks the time before (0)
before Christmas Christmas

e spiritually
preparing for
Christmas

Any alternative
wording of the above
points is acceptable.

(2)

Any alternative
wording of the above
point is acceptable.

€y




Question Answer Mark
Number

5 (b) Indicative Content 4
AO2 Answers which think Christians should believe that the bread and

wine becomes the body and blood of Jesus during the Eucharist are
likely to use such evidence as:

e it is what Jesus said

e itis a way Jesus is really present

e some people believe in transubstantiation

Answers which do not think Christians should believe that the
bread and wine becomes the body and blood of Jesus during the
Eucharist likely to use such evidence as:

e the Eucharist just remembers the Last Supper

e it is not scientifically possible

o the bread and wine are just symbols

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
one brief reason (e.g. the Eucharist just remembers the Last Supper)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. the Eucharist just
remembers the Last Supper when Jesus said, “do this in
remembrance of me”)
2 marks
For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
5(c) . .
AO1 The main reasons include:
e baptism welcomes the baby into the Christian Community
baptism cleanses the baby of original sin
e the service is a sign of the Holy Spirit entering the life of the
baby
¢ infant baptism is a long tradition of the Church
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
¢ not explaining but only describing the issue
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons with one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

5(d)
AO2

Indicative content
Reasons for supporting this statement could be:

e it is a time when Christians can remember the time Jesus spent

in the desert
e it is time they can think about others
e it is time they can show devotion to God

Reasons for not supporting this statement could be:
e fasting is a waste of time
e people can use their time better
e Christians should not display their religion

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e Oor two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

6 (a) 2
AO1 e the name given Holy communion

to the Eucharist
(liturgy)of the
(Roman) Catholic
Church

e a Catholic name
for the Eucharist

e a service when
the bread and
wine become the
body and blood of
Jesus

e the Sunday
service for
Catholics

Any alternative
wording of the above
points is acceptable.

(2)

a service

a sacrament
receiving the
bread and wine

Any alternative
wording of the above
point is acceptable.

€

Answers which
define a different
key word.

©)




Question Answer Mark
Number

6 (b) Indicative content 4
AO2 Answers which think it is important for Christians to be

confirmed are likely to include:

e it is how someone becomes a full member of the
Church

e it is a public way of showing faith

e it is when Christians believe they receive the Holy
Spirit

Answers which do not think it is important for Christians to
be confirmed are likely to include:
e some Christians have other ceremonies to show their
commitment to their faith
e it is living the Christian life that is important
e some Christians do not believe in sacraments

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
one brief reason (e.g. it is a public way of showing
faith)
1 mark

For a personal response with:
e two brief reasons
e or one developed reason (e.g. it is a public way of
showing faith as they attend classes before being
confirmed) 2 marks

For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
6 (c) . .
AO1L The main reasons include:
e it is time to re-enact the events of the last week of Jesus’ life
e it shows Christians how the Eucharist started
e it reminds Christians of the death of Jesus
e it is a preparation for Easter
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material
Level 1 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
e not explaining but only describing the issue
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons with one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question Answer Mark
Number
6 (d) Indicative content
AO2 Reasons for supporting this statement could be:
¢ the altar is not needed if you do not believe in the sacrifice
of the Mass
e having statues may lead to idolatry
¢ some features become more important than what they
represent
Reasons for not supporting this statement could be:
¢ some features give the worshipper a focal point when
praying
e the altar reminds Catholics of the Eucharist
e statues help make a church a special place
Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for
e a simple reason 3
2 marks for
e a developed reason
e oOr two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii) Why some people may disagree with their opinion
1 mark for 3

e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer Reject Mark
Number
7 () 2
AO1 e the laws God e the Ten Answers which

gave to Moses (in Commandments define a

the Old
Testament)

e the
commandments
God gave to
Moses

e the Torah

Any alternative
wording of the above
points is acceptable.

(2)

e the Old Testament

Any alternative
wording of the above
points is acceptable.

@

different key
word.

©)




Question Answer Mark
Number

7 (b) Indicative content 4
AO2 Answers which think that all Christians should be involved in working

for community cohesion are likely to use such reasons as:
e Jesus taught Christians to “love your neighbour “
e Christians have a responsibility to make their community a
better place to live in
e Christians believe discrimination is wrong

Answers which do not think all Christians should be involved in working
for community cohesion are likely to use such reasons as:

e some Christians will choose to pray for others

¢ some Christians are not able do this type of work

e it might not be their vocation

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
one brief reason (e.g. Christians believe
discrimination is wrong) 1 mark

For a personal response with:
e two brief reasons
e (e.g. Christians believe discrimination is wrong as St Paul taught
all people are equal in Christ) 2 marks

For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

7 (c)
AO1

The main ways include:

they will not judge other people

if they judge someone they will expect to be judged in the same way
they will think about their own faults first

they will not gossip

they will use the passage to reflect on their behaviour

Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark

Descriptor

0

No rewardable material

Level 1

1-2

Little understanding of the issue shown, typically by:

e giving one way
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

Basic understanding of the issue is shown typically by:

e using two ways

e or a developed way
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically by:

e using three ways

e or a fully developed way

e or two ways with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

e using four ways
or two developed ways
or two ways with one fully developed
or three ways with one developed
or a comprehensive way
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

7 (d)
AO2

Indicative content
Reasons for supporting this statement could be:

Jesus taught this in the Sermon on the Mount
Christians believe it is your thoughts and feelings that
matter

it sets your enemies an example

Reasons for not supporting this statement could be:

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be

it is not possible to love your enemies
some people do not deserve to be loved
the Law of Moses teaches “an eye for an eye”

sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for

a simple reason

2 marks for

a developed reason
or two simple reasons

3 marks for

three simple reasons
or two developed reasons
or a fully developed reason

(ii)) Why some people may disagree with their opinion
1 mark for

a simple reason

2 marks for

a developed reason
or two simple reasons

3 marks for

three simple reasons
or two developed reasons
or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

8 (a) 2
AO1 ¢ making a show of any example of

your religion (e.g.
praying in the
streets)

¢ doing a religious
act for public
recognition

e showing off your
religion

Any alternative
wording of the above
points is acceptable.

(2)

displaying
religion e.g.
praying in the
street, giving to
charity publically
and fasting
showing off

Any alternative
wording of the above
point is acceptable.

€y

Answers which
define a different
key word.

©)




Question Answer Mark
Number

8 (b) Indicative content 4
AO2 Answers which think that all Christians have a vocation

are likely to use such reasons as:
e some Christians have their vocation of raising a family
¢ some Christians join a religious community
e some Christians are called by God to do their job

Answers which do not think that all Christians have a vocation are
likely to use such reasons as:

e not all people feel called by God

¢ not all Christians do good things

e only the disciples were called by God

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
one brief reason (e.g. some Christians are called by God do
their job)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. some Christians are called by
God do their job for example become a charity worker)
2 marks
For a personal response with:
¢ two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

8 (c)
AO1

The main reasons include :

it helps Christians to understand the value of money

it reminds Christians they cannot take anything with them when they die
it teaches Christians they should not worry about money

it shows that money can distract you from serving God

Answers that do not refer to the teachings about money found in the Sermon
on The Mount cannot go beyond level 2.

Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark

Descriptor

0

No rewardable material

Level 1

1-2

Little understanding of the issue shown, typically by:

e giving a brief reason

¢ not explaining but only describing the issue
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

A clear understanding of the issue is shown typically by:

e using four brief reasons
or two developed reasons
or two reasons with one fully developed
or three reasons with one developed
or a comprehensive explanation using one reason only
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question Answer Mark
Number
8 (d) N
AO2 Indicative content
Reasons for supporting this statement could be:
e it is a summary of the teaching given by Jesus
o if all people followed it the world would be a better place
e it is a universal rule
Reasons for not supporting this statement could be:
¢ the Bible gives many other teachings
¢ people may have different ideas on how they should be
treated
e Christians need the Church to guide them
Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii) Why some people may disagree with their opinion 3

1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
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